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PART—A
ANTONYMS

Directions : Each item in this section consists of a sentence with an underlined word followed
by four words (a), (b), (c) and (d). Select the option that is opposite in meaning to the underlined word
and mark your response in the Answer Sheet accordingly.

1. Human craving for comfort leads to
anxiety.
(a) like
(b) dislike
(c) discomfort
(d) complacency
2. His writings on the subject are obscure.
(a) murky
(b) vague
(c) obvious
(d) uncertain
3. The achievements of the team have been
monumental in the last ten years.
(a) enormous
(b) memorable
(c) striking
(d) unimpressive
4. His _frill appearance was considered a
merit.
(a) weak
(b) delicate
(c) sturdy
(d) big

5. The novel depicts the hapless status of

certain sections of society.
(a) wretched
(b) miserable
(c) rural
(d) fortunate

DFRG-U-TAG/49A

10.

Her ideas have always been eccentric.
(a) special

(b) strange

(c) normal

(d) local

The land appears to be parched.
(@) dry
(b) desiccated
(c) wet
(d) scorched

The newly made road was smooth.
(a) rutted
(b) dangerous

(¢) winding
(d) silken

Plenitude is one major cause for
environmental degradation.

(a) abundance
(b) insufficiency
(c) ample

(d) plethora

The scholar quoted irrefutable evidence
for her thesis.

(a) overwhelming
(b) undeniable

(c) certain

(d) questionable
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SYNONYMS

Directions : Each item in this section consists of a sentence with an underlined word followed
by four words/group of words (a), (b), (c) and (d). Select the option that is nearest in meaning
to the underlined word and mark your response in the Answer Sheet accordingly.

11.

12.

13.

14,

15.

Ravi told his friend that he had no
intention to malign him.

(a) benign
(b) slander
(c) praise
(d) greet

Sheela appeared to be vexed.

(a) clear

(b) calm

(c) displeased

(d) uncomplicated

Do not hold any preconception about
people.

(a) notion
(b) experiment
(c) great idea

(d) conceit

All mortal elements are impermanent.

(a) temporal

(b) immortal

(c) never-ending

(d) divinely
The itinerary of the group’s visit to the
hills was given to everyone.

(a) invitation

(b) information

(c) schedule

(d) names

DFRG-U-TAG/49A

16.

17.

18.

19.

20.

The effort was to harness the power of
nature.

(a) abuse
(b) benefit
(c) apply
(d) control

The fickle nature of humans is at times
the cause of great innovations.

(a) vacillating
(b) consistent
(c) strong

(@) wily

The flood situation during the monsoon
this year was calamitous.

(a) abundance
(b) catastrophic
(c) encouraging
(d) welcome

He was appointed as the honorary
member of the team.

(a) paid

(b) invited
(c) accepted
(d) unpaid

The church decided to excommunicate
him for his actions.

(a) admit
(b) reward
(c) expel
(d) promote

[ P.T.O.
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ORDERING OF WORDS IN A SENTENCE

Directions : Each of the following items in this section consists of a sentence, the parts of which have
been jumbled. These parts have been labelled P, Q, R and S. Given below each sentence are four
sequences namely (a), (b), (c) and (d). You are required to rearrange the jumbled parts of the sentence
and mark your response accordingly.

21. to be successful what it is as a human being have you ever considered
3 Q R S
(a) SQPR (b) RQPS
(c) QRSP (d) PRSQ
22. there is in all instance a single, surrender to the idea that
P Q
authoritative truth to be discovered and defended many people today are willing to
R S
(a) RPSQ (b) SPRQ
(c) RPQS (d) SQPR
23. for yourself the implications of death, if you do not reflect and understand
P Q
from one preacher to another you will go endlessly
R S
(a) SRPQ (b) QPSR
(c) RSPQ (d) QRSP
DFRG-U-TAG/49A 4
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24, a way of understanding the world, a language represents

P Q
and relating them to one another differentiating between things
R S
(@ PSRQ (b) SRPQ
() RSPQ (d) QPSR

25. for India’s future mathematics and mathematical thinking will be very important

P Q R
it is recognized that

S
(a) QRPS (b) RPSQ
(c) QRSP (d) SQRP

26. in agriculture and veterinary sciences through will be enhanced sharply

P Q
programmes integrated with general education the preparation of professionals
R S
(@ SRPQ (b) RQPS
(c) SPRQ (d) PQRS

27. and should shift the way are certainly very important,

P Q
we think about politics the issues raised by feminists and multiculturalists
R S
(a) RPQS (b) RSPQ
(c) SPQR (d) SQPR
DFRG-U-TAG/49A 5 [ P.TIO:
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28. by which the genetic material of a plant is altered,
P

pests and enhance its nutritional value perhaps to make it more resistant to

Q R

genetic modification (GM) is the science

S
(a) QRPS (b) SPRQ
(c) RSPQ (d) RPQS
29. a much wider array of perspectives the editors of the present work
P Q
the history of social reforms from argue the need to understand

R S

(a) QSRP (b) QPRS

(c) RSQP (d) SQRP

30. for which she fought till the end as a champion of women'’s rights,

P Q
Pandita Ramabai was truly remarkable as a pioneer in women'’s education and
R S
(@) SRQP (b) QPRS
(c) RSQP (d) PQRS
DFRG-U-TAG/49A 6
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SPOTTING ERRORS

Directions : Each item in this section has a sentence with three underlined parts labelled (a), (b)
and (c). Read each sentence to find out whether there is any error in any underlined part. Indicate
your response in the Answer Sheet against the corresponding letter, i.e., (a) or (b) or (c). If you find no
error, your response should be indicated as (d).

31. Our greatest glory is not in never falling but in raising every time we fall.

(a) (b) (c)
No error
(@)
32. Rahim was one of that selected for the award. No error
(a) (b) (c) (d)

33. Sujini has met her old friend Guru before she shifted to Hyderabad two years ago.
- (b) (c)

No error

(@

34. This monument happens to be one of the old monument in the city.

(a) (b) (c)

No error

(d)

35. Amit told to Divya that he would come with a reward for her. No error
(@) (b) (c) (@

DFRG-U-TAG/49A 7 [0,
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36. If you have asked me for the truth I would have told you at that time.
(a) (b) (c)

No error

(d)

37. If I will be the millionaire I would eradicate poverty from the country.
(@) (b) (c)

No error

(d)

38. A bird in hand is better than two in the bush. No error
(a) (b) (c) (d)

39. The opportunity to attain foundational literacy and pursue a honest livelihood

(a) (b)

must be viewed as basic right of every citizen. No error
(c) (d)

40. Though there is progress for different directions, why is there no brotherhood?
(@) (b) (c)
No error
(d)
DFRG-U-TAG/49A 8
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IDIOMS AND PHRASES

Directions : Given below are some idioms/phrases followed by four alternative meanings for each.
Choose the most appropriate answer from among the options (a), (b), (c) and (d).

41. A queer fish

42.

43.

(a) A strange person
(b) A good person

(c) An unlucky person
(d) A lucky person

Eat like a bird
(a) Eat very quickly
(b) Eat a lot
(c) Eat continuously
(d) Eat very little

Lock horns
(a) Be like a bull
(b) Argue about something
(c) Agree with someone

(d) Think about the horns

Early bird
{a) Low flying
(b) Latest
(c) Ancient avian

(d) First arrival

Be in the pink
(a) To be very healthy
(b) To be very colourful
(c) To be very sad
(d) To be very rich

DFRG-U-TAG/49A

46. Be in the running
fa) In a very bad state to speak
(b) In a powerful position
(c) In a good position to win

(d) In a losing position

47. A sea change
(a) Change in the sea tides
(b) A complete change
(c) Change like sea
(d) Changed sea with pollution

48. A pearl of wisdom
(a) An important event in one’s life
(b) An important person of wisdom
(c) An important piece of advice

(d) An important thing in one’s life

49. Be in seventh heaven
(@) To be extremely sorry
(b) To be extremely wise
{c) To be extremely sad
(d) To be extremely happy

50. Be in the red
(a) To owe money to a bank
(b) To get money from one’s family
(c) To be in danger of being caught
(d) To be in favour of needy people

[ P.T.O.
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Y T—B

51. ffafad § @ frgh w1 fdo g A 8 54. 2w wra # el falw $w sfem wwdt 3

ofi? 1639 ¥ =R A (fen 9) = fmio
o an?

(a) Thadt STt 1 T sAfiea

(b) WHER H wE vl gt i

(c) Tas@a &t qurer ywifed (b] SRRSO )

(d) @A e sfee fc) e
(d) FHER

52. fF=fafaa gena w fawm fifsw .

1. FISA1 SN TG 55. Frefafad § @ F=-91/F9-2 99 78 B/27
2. W fawm afeg (o Fo He) F T 1. fafw $= e Fwh A F AR
3. o Elo Hlo ENI TEeh Uuadia e %9 §R $fem FoA R w g
e 2. AR = ad 1498 F Frefwe wE|
4, T Arsn wfEfd 1 e PPMRMRRACLE. 0% e imaiey
Heisl w1 wé gwn fFefafad d |
ﬁw%? (@) F 1
(@) 1-2-3-4 (b) ¥ 2
(b) 2-1-3-4 (c) 13 23A
(¢ 4-1-2-3 @ J@13mad2
(d) 1-4-2-3
56. Wrd # 1 FAr ofy, f@ v ad | s
53. Freffiad # @ e 7@ @ v # fifw = A A uie @l @ F A wEfy F o s
st i g7 (forn <) B foamn s 2, 1 =0 Fed &7
(@) wHiTa 1 dE TS (@) FA T (Feddad ecie)
(b) T T TG (b) =Te, Wl i (te Hell)
(c) THR IS (c) e Tl fH | g wwelt fH
(d) 1857 #1 fag= (d) FE (FF) IR TR 4 (F=ds)
DFRG-U-TAG/49A 10
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PART—B

§1. Which one of the following was 54. Where in South India did the British East
composed by Harishena? India Company construct .a trading post
(a) Nashik Inscription of Gautami in 16397
b g (a) Cuddalore
b Pr i
I gﬁiﬁ?‘agupta b " (b) Madraspatam
(c) Deopara Prashasti of Vijayasena (c) Kalahasti
(d) Hathigumpha Inscription of (d) Karwar
Kharavela

) i §5. Which of the following statements is/are
52. Consider the following events :

correct?
1. Establishment of the Planning

Cibimisaiie 1. The Dutch East India Company

was formed after the formation of

2. Formation of the National the British East India Company.
Development Council (NDC)

: : 2. Vasco da Gama reached Calicut
3. Approval of the First Five-Year Plan

in 1498.
by the NDC
4, Constitution of the National Select the correct answer using the
Planning Committee code given below.
Which one of the following is the
correct sequence of the above events? (@) 1 only
(@) 1-2-3-4 e o
(b)) 2-1-3-4 {¢) Both 1 and 2
fc) 4-1-2-3 (d) Neither 1 nor 2
(d) 1-4-2-3
56. In India, a cultivable land which is left
53. Which one of the following battles could uncultivated for more than a year but
be seen as laying the formal foundation less than five years is labelled as

of the British Raj in India?

(a) cultivable wasteland
(a) Third Battle of Panipat

(b) Battle of Plassey (b) current fallow

(c) Battle of Buxar (c) fallow other than current fallow

(d) Revolt of 1857 (d) barren and wasteland
DFRG-U-TAG/49A 11 [ B:T.O.
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57. e # e Aitaa afem 1 wg@ W el 59. -1 # FH-II % Wiy gafaa iy iR

fora 27 gfedi & H= fog T F2 w1 5@ =W Ed 3w
e :
(@) i sregferan 5! 4
(wa w=w) (yeaTea)
it A. 9d 7eA 1. TR@Eg
(c) whade B. W g 2. AR
C. I gl Hiem 3. TR
(d) il & (Afda 2heR) D. IR ufEm 4. WA
e
@) K" B o
58. frafafad # & FH-w1 /3-8 F91 @@ 2/27 3 A& O
1. ¥R {49 % ga9 o« A Saseid S ) A< B TTeRD
Jead a9 e R) < T e ©
2. FdqM # JEeug ST, T HIGEEd & fo'K ARG
T 25 Wivd qiEed § weEd S R U s
4 ) & - Babl D
3. UM wemr sfufem, 2016 ¥ W o e Ly
WO 111 JqeE Ser w A
v st o 7 ) 60. sgfia il % AR Prffad § A A
FYA Hel TE 27
= 1 YA W FE IH |
e o (@ P a0 dig i A Serd B v guaE ®
TEd YEa ggadl ¢
(@ 1,233
(b) P @@l g, @@ iR AW @t ¥ TR
(b) Faw 1 3 2 T R AEA B
‘ (c ¥fFz F 145° ¥ R @ EHy-aeh
() ¥ad 3 P T % SAFTHA I &S L @ ¢
; (d) P bl % fteran &=, 396 S &3 3
(d) a1 33 it §1
DFRG-U-TAG/49A 12
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§7. The major portion of the Great Artesian 59. Match List-I with List-Il and select the
Basin in Australia is located in correct answer using the code given
below the Lists :
(a) Western Australia

List-1 List-II
(b) Victoria (Railway Zone) (Headquarters)
A. East Central 1. Gorakhpur
() Queensland
B. North Eastern 2. Jaipur
(d) Northern Territory -
C. Northeast Frontier 3. Hajipur
D. North Western 4. Maligaon
58. Which of the following statements is/are 5 g4
correct?
(a) A B © D
1. India has one of the Ilongest 3 4 1 2
navigable inland water networks in
the world. (b) A B C D
< 1 4 2

2. Inland waterways presently help in
transporting about 25 percent of (c)
the total cargo movement.

N >

w
20
w g

3. About 111 inland waterways (@)
have been declared as National
Waterways under the National
Waterways Act, 2016.

o ]
w
- 0
w g

60. Which one of the following statements
about earthquake waves is not correct?

Select the correct answer using the (a) P waves move faster and are the
code given below. first to arrive at the surface.

(b) P waves can travel through
(@ 1,2 and 3 gaseous, liquid and solid materials.

(c) Seismographs located beyond 145°
from epicentre can record the
arrival of P waves.

(b) 1 and 2 only

(c) 3 only
(d) P waves have maximum area
(d) 1 and 3 only covered under its shadow zone.
DFRG-U-TAG/49A 13 PRT:O:
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61. % I9 B AP P Freai-d

(kWh) ?, St sRTeR ®
(@ 3-6x10°J
(b) 3-6x10%J
¢ 1089

@ 1J

62. e urmar shenfer ¥ weay 3§ fsfifag

¥ -9 YA 98 T 27

(@ diETfes F fim Joha &9 wwenE
el 21

(b) ¥WETE ufETfeR BF gew % wWM
TER FAl B

() um # 3f& % @y whefr ¥ i
g9 &7 | 3fg A R

(@) 3R wfenfam % fiw g3 e o3 R
o s @, @ P & dm @ a
Tl R

63. FI TE] 3 T AAH a1 Wil A o g Y

TF W F H p, ® IR G N0 F e
20 81 I% *1 3Ha A w741 27

(@) 3pg
(b)
(c) po

(@ =po

DFRG-U-TAG/49A
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64. IR TH A G@HI STl F ywar 27
(@) ¥ % HTH § gig F FRO
(b) aa%mimﬁ.gmasm
(c) & % ToE ¥ g F Fror

(d) ST F TeATH § B F FROT

65. fafaflaa # ¥ FR-w woed, Y ¥
T & ged e 27

(a) 500 nm
(b) 5000 nm
(c) 100 nm

({d 1 nm

66. U fagq se= 220 v wifm A o1 gen B 39
T ot I Gt 9K 600 mA B wem H
wifts fopaeft 7

(@) 132 W
(b) 132 W
(c) 1320 W

(d) 13200 W
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61. The commercial unit of electrical energy 64. A pressure cooker cooks food faster by
is kilowatt-hour (kWh), which is equal to

(a) increasing the boiling point of

: 6
(@ 3-6x10°J B,

(b) 3-6x103%J
(b) decreasing the boiling point of

(C} 103 3 water
{d 13 (c) increasing the melting point of
water

62. Which one of the following statements
regarding a current-carrying solenoid
is not correct?

(d) decreasing the melting point of
water

(a) The magnetic field inside the

solenioid is uniform. 65. Which one of the following wavelengths

(b)) The current-carrying solenoid corresponds to the wavelength of

behaves like a bar magnet. X-rays?

(c) The magnetic field inside the (@) 500 nm
solenoid increases with increase in
P (b) 5000 nm

(d) If a soft iron bar is inserted inside
the solenoid, the magnetic field (¢c) 100 nm
remains the same.

(d 1 nm

63. An object is made of two equal parts
by volume; one part has density p, and
the other part has density 2p,. What is
the average density of the object?

66. An electric bulb is connected to 220 V
generator. The current drawn is
600 mA. What is the power of the bulb?

@ 3p,
3 @ 132 W
(b) Epo
b) 132 W
c) po
(€ 1320 W
1
d o
@ 3Po (d) 13200 W
DFRG-U-TAG/49A 15 [ P.T.O.
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67. @ @R ¥ ara (F=) d Ifg &t 2, @ 71. TR T Mar@Ri gR |iE @4 | "ewa % fag

Fraferfaa # & feah gfe ad 27 war frg o T Rl § sifedsa ¥ @iy
foraem fagor B 87

(a) dgar

(b) wEEEr (@) FAHH

(c) TR 5

(d) R
(c) TEGISH

68, frefifan # ¥ P, @ ¥ wa wh
e Ao &7 o o

(@) T > dAEl > HEl > aH

(b) TH > T > T > FE 72. Frefafaa 3 & fra/fm A /AR § @i
(c) TE > & > wen > H 3TqHE Bl 27
{d) W>H‘I§>?ﬁ'€l>¥ﬂm (a) mm
69. Frefafaa # 4 #R-d ug e 9@ # & (b) et siiawETRe 3R o siiEe
??
(c) TR HiaaTEe
(a) ifiEm
(b) Ffcaam (d) Affam st
(c) TieRrEm
A 73. WA TR # e il g 9w ghdl @
sl foraeh /fereh g aftenfera e 27
70. Pr=fafas & ¥ fre faema 4 fag = em 6
g E 87 (a) WifETH
(@) FIR Fohe &
(b) WifETH FANEE
(c) & (c) e
(@) Wieam TRgFTES (d) afeam i dRfimm
DFRG-U-TAG/49A 16
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67. When the pitch of sound increases,
which one of the following increases?

(a) Intensity
(b) Loudness
(c) Wavelength
(d) Frequency
68. Which one of the following is the correct
reactivity series with water?
(a) Zinc > Iron > Lead > Copper
(b) Copper > Lead > Zinc > Iron
(c¢) Copper > Zinc > Iron > Lead

(d) Zinc > Copper > Iron > Lead

69. Which one of the following metals floats
in cold water?

fa) Magnesium
(b) Calcium
(c) Potassium
(d) Copper
70. Which one of the following solutions is
not capable of conducting electricity?
(a) Copper sulphate
(b) Sodium chloride
(c) Sugar

(d) Sodium hydroxide

DFRG-U-TAG/49A

71. To help deep-sea divers breathe, they
carry cylinders of oxygen mixed with

(a) chlorine

(b) helium

(c) nitrogen

(d) ozone

72. Which of the following compounds

undergoes/undergo thermal decom-
position?

(a) Zinc oxide

(b) Silver oxide and zinc oxide

(c) Silver oxide

(d) Magnesium oxide

73. The transfer of electrical signals by nerve

cells in human body is enabled by

(a) sodium

(b) potassium -

(c) iron

(d) sodium and potassium

[ P.T.O.
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74. g ¥ i A Reerial fher am @ afm @
Sl 87

(a) Toear Feigs
(b) Tear tfaurse
(c) Toeat GewIgs

(d) Taeat gethe

75. A4 99 9% Al W Ra awget i fawiE
il F Wy 2@ gFar 81 I fFw Fwo |
e 87

(@) -3
(b) Tme-gfem
(c) gq-gfEan 3fr Fee-gfean

(d) 3 F GHH- a1

76. Frfafaa & ¥ F\-w TR wAfE #
7eg-vie 9 iy w27

(a) e
(b) WA
(c) wrifaaH

(@) Ufer

DFRG-U-TAG/49A

77. WHE 3AF § 99 H 9= FEd g fe s
27

(a) T

(b) T 3R eI
(c) T 3ir ofie
(d) Tam i ufdm

78. wiiv-wifdEER R yry-HRmmE F an #
Tr=fafiga § ¥ F9-91 %9 98 87

(@ wiftr-FifiEet ¥ Faa -G
B B, FfiEw-ffy 78, s@fe a=e-
FifiEme § Faa HifEw-ff ad R,
Fiftra-fgh 7t

(b) wiv-wfiER § Faa  HRE-RE
TR B, Ffiem-ff 7@, afF deg-
FifkEme J 61 A

(c) wit-wfE 3R gRe-FRE I A
Fifve-fagh 3R wifte-fafa a8

(@ wibEi f Faa FB FREEEA A
Hifier-fafs @t ' o wft uem-
FifyEmed § wifdEmE-fag ad R

79. THIH TF Fah od €, Sl AqURIREHE =
# qrn e 1 e e vgw A 27

(@) UEE ™
(b) FTEE WA
(c) T3

(d) wsHT
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74. Silver artefacts get tarnished in air due 77. The digestion of fat in human intestine
to the formation of is performed by

(a) silver chloride (@) trypsin

() sil id (b) bile and lipase
silver oxide

(c) Dbile and amylase

(c) silver sulphide
(d) bile and pepsin

(d) silver sulphate

78. Which one of the following statements
about animal cells and plant cells is

. correct?
75. Human eye can see objects at

different distances with contrasting

a) Animal cells ha onl cell
illuminations. This is due to (@) ve only ce

membrane not cell wall, whereas
plant cells have only cell wall not
(a) far-sightedness cell membrane.

(b) Animal cells have only cell
membrane not cell wall, but
plant cells have both.

(b) near-sightedness

(c) far-sightedness and near-

sightedness (c) Both animal and plant cells have
cell membrane and cell wall.
(d) accommodation of eye :
(d) Only some cells of animals have
cell wall and all plant cells have
cell membrane.

76. Which one of the following hormones

increases the heartbeat in mammals?
79. Lymph is a tissue fluid present in

G Bt intercellular spaces. It resembles to
a nsuln

(a) digestive juice
(b) Melatonin
(b) cytoplasmic fluid

(c) Thyroxine () urine

(d) Adrenaline (d) plasma
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80. FINTHEA § Tehia & faded § #:1 o7a &7 83. Wd W&HR TW TS d A wow fi W
‘SHRESHTA’ 951 & @R # f=fafaa § @

(@) UEEAZ 3R = - /-] FYF G 2/E7
1. ¥g A5 e &6 7 818 Fha & ol
(b) UIgEAR IR HEA TEATHAES % forg srmardig foen ¥ 21
2. @ Iggfaa wfa & Aueh AfF e
(c) uTEEAZ 3R ATt I e g
A R
(d) TIEEAE AR AFESA
= few U g2 #1 wEm W wE W ghuy
81. Tha 7o I T ¥ R woE 9 o 2w (@) Faa 1
, 2022 Sfra?
b (b) HaA 2
(a) HRA HRwAH
(c) 1 3R 23N
(b) T e
(d Ad1IMAH2
(c) FER &L
e 84. T € ¥ U% fuilg #, wRa ¥ I=aH THETHE
T Ry M fRw ¥ agEr, Imr ¥ oasft
wiEa a9, WA ITW U@ FE SWER §
82. NId G&FR H SeiRfefm da, $-wear FH-8-%9 fran sfad wifeufos daeasia
aﬁmﬁﬁ%ﬁ:m@ﬁﬁ%mw? ﬁ(@-ﬁﬁﬁaﬁq—éomoﬁgo)m?
(@) AgHA ¥a fefrea fem (@) FTh! Fuifa W & 1 km
(b) FW HEH s s (b) IR fauif@ dim ¥ 2 km I
(c) WO GRa S A (c) T fauifa @M & 3 km M
(@) wreshfie (gfede) wrea i ae (d) J¥h fuifE @91 & 5 km M
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80. The breakdown of glucose in cytoplasm
results in the formation of

(a) pyruvate and énergy
(b) pyruvate and carbon dioxide
(c) pyruvate and oxygen
(d) pyruvate and nitrogen
81. Rafael Nadal defeated whom among the

following to win the French Open
Tennis Tournament, 2022?

(a) Austin Krajicek
(b) Ivan Dodig
(c) Casper Ruud
(d) Joran Vliegen
82. eSanjeevani, the free telemedicine service

of the Government of India, was recently
integrated with the

(a) Ayushman Bharat Digital Mission
(b) Aam Aadmi Bima Yojana

(c) Pradhan Mantri Suraksha Bima
Yojana

(d) Universal Health
Scheme

Insurance

DFRG-U-TAG/49A

83. Which of the following statements about
‘SHRESHTA’ scheme, launched recently
by the Government of India, is/are
correct?

1. This scheme is for residential
education for students in high
school in targeted areas.

2. It provides for high quality
education for meritorious but poor
Scheduled Caste students.

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

84. In a recent judgement, the Supreme
Court of India directed that every
protected forest, national park and
wildlife sanctuary across the country
should have a mandatory eco-sensitive
zone (ESZ) of a minimum of

(a) 1 km starting from their
demarcated boundaries

(b) 2 km starting from their
demarcated boundaries

(c) 3 km starting from their
demarcated boundaries

(d) S km starting from their
demarcated boundaries

[ P.T.O.
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85. T ¥ Z7 % fe Yok & w=ial 1 §7 89. fr=fafiaa e wemadl w fmm Hifv

(a) %4l 1@ 1. Tid-3fda awghar
(b) T o 2. TEU G A geH
3. aRawE ¥ M EeE
(c) < Td :
4. wWel H fFam e
(@) FF e
394 HZAIHA H1 FE HIEAGHA (TN A IE
Fa gu) Frafafaa & & SF-w@ 27
86. 8 ¥ fhua vemgn wiew &1 anfaswr e an?
(@) ¥ gafisq (@ 4-1-3-2
(b) SAH (b) 4-3-1-2
() T st () 3-1-2-4
(@) T H
(d) 1-2-4-3

87. JarS GHIY 9% 919 I 1943 #§ IJWR WRa

% 1134 6 divon wEl i A7
i s 90. qfafe A ¥ W & Pl d 2
(@) Tyt FH-F1/BA-8 H9F G 7/87

yfafferea @ arelt w Ui 9 ot
(e) " 2. g WA * favysm wra i wiferam
(d) wieA w4 % fomm & fowg o)
9 fay ¢ %2 w1 wE@m = wE IR g
88. 3 4 fFEa 13 fewmar, 1946 + dfaym @

H ‘Y9 wEad’ wega feran ean? (@ %4 1

EEIRGIC
% (b) FadA 2
(b) T3 TH8
(c) o Ao AT 1N Ao
(d) AR FoTET =R (d A@M1IMIA2
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85. Who among the following is the author
of the book, Tomb of Sand ?

(a) Arundhati Roy
(b) Geetanjali Shree
(c) Chetan Bhagat
(d) Jhumpa Lahiri
86. Who among the following invented the
flying shuttle?
(a) James Hargreaves
(b) John Kay
(c) Richard Arkwright
(d) Humphry Davy
87. Where did Netaji Subhas Chandra Bose

announce the formation of the
Government of Free India in 1943?

(a) Singapore
(b) Shanghai
(c) Berlin

(d) Mandalay

88. Who among the following introduced the
‘Objective Resolution’ in the Constituent
Assembly on 13th December, 19467

(a) Jawaharlal Nehru
(b) Rajendra Prasad
(c) B. R. Ambedkar

(d) Alladi Krishnaswami Aiyar

DFRG-U-TAG/49A

89. Consider the following historical events :

1. Gandhi-Irwin Pact
2. Second Round Table Conference
3. Peasant Movement in Bardoli

4., Peasant Movement in Kheda

Which one of the following is the correct
chronological order (starting from the
earliest) of the above events?

(a) 4-1-3-2

(b) 4-3-1-2

(c) 3-1-2-4

(d) 1-2-4-3

90. Which of the following statements about

the Unionist Party is/are correct?

1. It was a political party representing
the interests of landholders in
Punjab.

2. It was opposed to the idea of
the partition of India as India
and Pakistan.

Select the correct answer using the code
given below.

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.
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91. FEaid e ¥ ar ¥ Fr=fafaa ¥ ¥ FR-w

F9A T8 T _7

(@ @fsl A afa ofgd (S §-) e
uzfhd g8l (W W) § HyuEA &
FRU FS HETARG Nl § oA [ahd
A 9

(b) &l weEa D @il A (d€) F
w9 ¥ fapftm B 8, 98l FEmEka 9
edd HIR Bl B

(c) & ToHd WYURVE: Yad A €, 9§
FEaia fid F % 9§ @fed @ S
]

(@) @, s gea: fd e ate @ @
%, TE: HrEe g Afekd B €

92, frfufa # ¥ FR-w ‘o (Refggk)’

Y9 i wER (Few) | e w87
() T

(b) wrEdfafls

() FRE

(@ e

03. fmfefaa # ¥ f4g %1 FH-w TR geaft & goia

¥ Foaan Waw A 1 vfaffe ww 27
(a) T, FTE

(b) Wz dedert, €4

(c) HfgE, &

(d) wiFem, e

DFRG-U-TAG/49A

94. IR W Wi RAF-t@ *F R @ 6t dR

ISH WA B, @ = e

(@) 39 12 =2 €13 A S
(b) M9 12 =2 AR B S
(c) M9 24 2 AW B I
(d) 39 24 b2 9B A s

o5, fr=faflaa # ¥ frm ol 2w | = W@

T (e Affea) i e 7
(a) W@

(b) HesiirEm

(c) WA

(@) =

96. gt ¥ U TRl F R M I

frvermm w0 & forg s ww i geedt A
FHfed! 1 S H T FEd &7

(@) FSeERfaTE (fremiderst)
(b) FEHR (Afafasimierrs)
(c) quermtayH (Yfenfadatsh)

(@) gopie (Afernfaeiid)

07. waWH @ ¥ Tmm R wR ¥ fag

In-wra 7 A TFER A
(@) &

(b) TG (FARefa)

(c) gY@

(d) =ETER
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91. Which one of the following statements
about metamorphic rocks is not
correct?

(a) Due to segregation of minerals into
wavy bands or platy surfaces,
some metamorphic rocks develop
foliations.

() Where the foliations develop
into broad mineral bands, the
metamorphic rock is extremely
hard.

(c) Where the foliations are moderately
thin, the metamorphic rock tends
to flake apart.

(d) Rocks that originally were
composed of one dominant
mineral are often foliated by
metamorphism.

92. Which one of the following
‘discontinuities’ separates the Earth’s
crust from the mantle?

(a) Gutenberg
(b) Mohorovicic
{c) Conrad
(d) Repetti
93. Which one of the following cities of

the world would represent the greatest
linear velocity of rotation of the Earth?

(a) Kampala, Uganda
(b) St. Petersburg, Russia
(c) Madrid, Spain

(d) Stockholm, Sweden

DFRG-U-TAG/49A

94. What will happen if you are flying east
across the International Date Line?

(a) You will lose 12 hours
(b) You will gain 12 hours
(c) You will gain 24 hours

(d) You will lose 24 hours

95. The Prime Meridian does not pass
through which one of the following
African countries?

(a) Morocco
(b) Algeria
(c) Mali

(d) Ghana

96. Piecing together the puzzle of geologic
time to create and analyze historical
maps of the Earth is known as

(a) paleoclimatology
(b) paleogeomorphology
(c) paleolithology

(d) paleogeography

97. What is the nature of velocity-time

graph for a car moving with uniform
acceleration?

(a) Parabola
(b) Logarithmic
(c) Straight line

(d) Exponential

[ P.T.O.
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98. taft ql ¥ W H frad g & wma s 102. W@ 3R an F aR § Fr=fafea § ¥ F9-m

?? Fo4 TE 27
(@) <&
(@) =@ 3R 3 <1 wfem ufy §)
(b)
(© @@ (b) =TE 3 3 G sfewm afy #)
- (c) =l wfew e & iR 3 srfew ufd &
99. Tt fagq a=a g1 10 e & forw 06 A i (d) =Te e aft & iR am g i )

g ot 9t R1 oy F ¥ D vaifka an
I faegq smawm At wEn Fefafaa § @ =0

Brfi?
(@ 6C 103. i T fagung 27
jidti 3 (@ Cu 3R Zn
(c) 360 C
(d) 36 C (b) Cu 3 Sn
100. DC i form firgia w %/ Fwa 27 (c) Zn 3R Mg
i B e (d) Fe 3R Cu
(b) @ % Fo1 F Frm
(c) H= F fg@-g=da Jw & fam
(d) 3IE H A FE 7 104. fr=fafad & A fre @@ 3§ freaa-sa @@
Bra1 87
101. fFr=fafaa # @ frm @3 =1 wm =& gl
& ) uff 1 Pfon e <1 we 37 (a) T W
b S (b) e shen (= Fafeer)
(b) SR
© T g (c) oM F Gl
C,
(@ W (d) HR G
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98. The amplitude of sound waves is 102. Which one of the following statements
measured in the units of about speed and velocity is correct?

(a) pressure -
(a) Speed and velocity both are vector

(b) distance quantities.
(c) time ;

(b) Speed and velocity both are scalar
{d) Speed quﬂ.ntities.

99. A current of 06 A is drawn by an electric (c) Spee‘f’ %s vpctoy qua?ntity and
bulb for 10 minutes. Which one of the velocity is scalar quantity.
following is the amount of electric
charge that flows through the circuit? (d) Speed is scalar quantity and

velocity is vector quantity.
(fa) 6 C
() 06 C
() 360 C 103. Bronze is an alloy of
(d) 36 C (a) Cu and Zn
100. A DC generator works on the principle of (b) Cu and Sn

(a) Ohm'’s law
() Zn and Mg
(b) Joule’s law of heating

(c) Faraday’s laws of electromagnetic (d) Fe and Cu
induction :

(d) None of the above
104. Which one of the following salts does not

possess water of crystallization?
101. The presence of magnetic field can be

determined using which one of the :
following instruments? (@) Potassium permanganate
5 Nosngta (b) Blue vitriol
(b) Voltmeter

X (c) Washing soda
(c) Magnetic needle

(d) Motor (d) Mohr’s salt
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105. WYAFdl 1 TF UE I Biedl @ fFEd Fro 108. Sagd! § fwen 9@ s ¥ 9§ yE:

@ R S R BR WH aren Ind el W afd wdht R ) 7w whEn fee seww
FH-H1 87 ??

(a) 2F 37 (@) HoH

(b) i ot (b) FFEAEI

(c) TTEE I (c) Fagmm

(d) ¥ B

Y et e 109. &l &% F war fFE o W o § FEwn
- Tl )“;f”.“"“'i‘mqm? R (fre) s 0 ¥ R e s 21 v

e wfsran foraem emem &7
(a) TTEGIH | (@) ST
(b) FAH g (b) T
(c) FTEA TRIATHRS T4 () T
(@) s | (d) FEE

107. TA H GrEAITH guTEAtadl $ gen fra 27 110. C,Hg frus gerdig oft # mfirer 27

(@ 5 (@) TeHA

(b) 4 (b) ¥R

(c) 2 (c) TeHrE

@d 3 (d) WTEFAEHA
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105. Bee sting leaves an acid which causes 108. Vapours of sulphur escaping from a
pain and irritation. The acid released is volcano often form a crust on the rocks.
The process involved is an example of

(a) tartaric acid
(a) condensation

(b) citric acid
(b) precipitation

(c) ethanoic acid
(c) deposition

(d) methanoic acid
(d) evaporation

106. Liquid vegetable oils are converted to

solid margarine by the use of 109. Dry ice is used on a performing stage

to produce mist in air. The process
involved is an example of
(a) hydrogen gas

(a) sublimation
(b) chlorine gas

(b) evaporation
(c) carbon dioxide gas

(c) condensation
(d) oxygen gas
(d) precipitation

107. The number of structural isomers of

pentane is 110. C,Hg belongs to the homologous series of
(@ S (@) alkanes
(b) 4 (b) alkenes
(c 2 (c) alkynes
(d 3 (d) cycloalkanes
DFRG-U-TAG/49A 29 [P0
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111, TAaREl F Ama # s fufw g afem 9ém
T USITEH & H1 Fed 87

(a) FEf
(b) TS
(c) ufEm

(d) ffem

112. 5@ 13 W-Sifmw sia % FFd w0 g ae
wem ¥ fora gen A, a8 frafafaa § @ =
qform gm?

(@) i @ wa H wf aeft
(b) W % GeleH § HIE g T an
(c) i & s i 3fe Brft

(@ HfiE g et

113. mﬁaﬁnﬁmﬁfaﬂﬂﬁﬁ’é?
(@) FEROTR (FTEEHTTSAT)
(b) 9 (3F)
(c) WA (TEEIE)

(d) TFEEM
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114. A= ¥ 9=, %o 3R €9 399 2 &

(@) A siSE R IvSEE |
(b) FHAN: veEE 3R e |
(c) VSR A, Hfi5re H ARl Tl

(d) <SR/, A H AR T

115. Fr=fefaa § ¥ fFax agg-a2i/gfemi (=) @i

I v el % wfRs W 3= sufie
qerdl A geh H % forg Tgerdt v e
‘gfta wrR e’ e fea @7

(@) WRAE qEEH
(b) TEE 22 R (TWo Hio Hio)
(c) Wt e

(d) =5 wRa faeE

116. 93 Ug fag wiewm fem, 2022 1 A5aH

2w Pr=forfiaa # & F9-w a7
(@ WS

(b) e

(c) Ti&o SThihl

(d) T
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111. The protein-digesting enzyme secreted by
the stomach wall in case of mammals
is called

(a) chitinase
(b) amylase
(c) pepsin
(d) trypsin
112. Which one of the following will be
resulted when an animal cell is

surrounded by a medium with lower
concentration of water?

(a) Cell will lose water
(b) No change in movement of water
(c) Cell will gain water

(d) Cell will swell up

113. The digestive enzymes are present in
(a) mitochondria
(b) vacuoles
(c)

lysosomes

(d) ribosomes

DFRG-U-TAG/49A
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114. After fertilization, the fruit and the seed
are produced by

(@)

ovule and ovary, respectively

(b)

ovary and ovule, respectively
(c)

ovary, no ovule required

(@

ovule, no ovary required

115. Which among the following has initiated
a nationwide flagship campaign Puneet
Sagar Abhiyan’ to clean seashores/
beaches and other water bodies of
plastic and other waste materials?

(a) Indian Coast Guard
(b) National Cadet Corps (NCC)
(c) Indian Navy
(d) Swachh Bharat Mission
116. Which among the following was the host

country of the United Nations World
Environment Day, 2022?

(a) Canada
(b) Sweden
(c) South Africa

(d) Brazil

[ P.T.O.
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117. 34 2022 #, f=fafes § 4 wyrdm @ & 120. ¥ ¥ fasam gy 4 ffa fre w@l?

o6 drl i Famges e mn?
(@) Mo o THo WM S o To THo o Xm e
Fura
' (b) FEE TE
~ (b) 3o THo THo faiw 3 IMEe TWo THe
— (c) T
(c) HMgo Tdo THo Fall 3R 3Zo TWo THo
HUE (@) Tasna m

(d) Mo THo THo MHl 3R 3o To THo

L]
121. Fferen a1 fm gwas fohaent el g 27
118. wrd A f=fafaa & @ fra 3w & @y il (@) Raww
A1 F MH-60R FefiFiet #i amgfd % forg
T 913 W gEan fHe? W
(b) AT
(@) TEA
o (c) TARrgIa
(c) &4 (d) FATEARTETR
(d) o THo To

122. TH REIeH 1 I 3 3 fore fopan?
119. WRd $ &N F "ol &, ‘g’ o ‘Ieafift’ we
fored wafim 87

(@) TvER fafem
(a) qXEH T AT
(b) far=n @
(b) FHN et
() Tk T R (c) FETEH LR
(d) Feda (@) 1Y
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117. Which of the following Indian Naval Ships
were decommissioned in June 20227?

(a) INS Ganga and INS Nipat

(b) INS Nishank and INS Akshay

(c) INS Khukri and INS Sandhayak
(d) INS Gomati and INS Ranjit

118. India signed a deal with which one of

the following countries to supply
MH-60R helicopters to the Indian Navy?

(a) Israel

(b) France

(c) Russia

(d) USA

119. With reference to India’s defence, the

terms ‘Surat’ and ‘Udaygiri’ refer to

(a) coast guard patrol boats

(b) cargo helicopters

(¢) maritime patrol aircrafts

(d) warships

DFRG-U-TAG/49A
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120. Who among the following laid the

foundation of the Vijayanagara Empire?
(a) Harihara and Bukka

(b) Krishnadeva Raya

(c) Rama Raya

(d) Virupaksha Raya

121. The book, Kalila wa Dimna is an Arabic
translation of the

(a) Hitopadesha

(b) Panchatantra

(c) Suryasiddhanta

(d) Kathasaritsagar

122. Who among the following initiated the
Bhoodan Movement?
-(a) Ram Prasad Bismil
(b) Vinoba Bhave
(¢) Mahatma Gandhi

(d) Kanhu Murmu

[P.T.O.
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123. wia ¥ frafefga § @ g 96 1 @
IR IFh! {1 3 IR FE e w17

() TR

(b) THRW (THIEE)
(c) TEZRE

(d) wEER (sredediv)

124. 78 ¥ fFe Aegwcia YR T SFawd F Q)
YR % B &1 909 fFa —a19 =% =gawn
@ ‘Ig# e wm ® AR Y@ e wEwn
& “grar’ =w st 27
(@) & Ta&h
(b) TG &R
(c) T aq@

(d) &g e fizw

125. Frafafaa § @ e geom wa § a93d (v
e firet €7

(@) Hreftsm
(b) T
(c) wHESIEE

(d) TG
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126. ¥ca it AT | Hafta Fe=fefas s w

ﬁﬁm?ﬂﬁm:

1. Fa sHeen F: fad 79 (Fia) 49 3
fawfsa =& #1fis T ® Rk
foran s @ R

2. Fa FN swEem w faa g (Fha)
&7 ¥ v = N (Ff7) 97 =)
aRerfera ok st gean &1

3. FA SEE F Fa 47 A fanfa w6
S 99 1 Uitehfoa R s e
2

Trdw § A P wom v /4
(@ 1
(b) 2
) 3

(d) HrE T

127. 318 wgH veifedi w ‘R w1 i fi=fafaa

% ¥ forad gaftm 27
(a) T

(b) TR

(c) g

(d) SramEE
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123. Which one of the following rivers in India 126. Consider the following statements on
was not crossed by Alexander and his computation of density :
army?

1. Physiological density can be
computed by dividing the total
population by the net cultivable
area.

(a) Hyphasis

(b) Acesines

2. Agricultural density can be
(c) Hydraotes computed by dividing the total
agricultural population by the net

G s cultivable area.
3. Population density can be
computed by dividing the total

124. Who among the following has described FRPIIN LY. (hs W1 dasn.
the medieval Indian postal system as of
two kinds—the horse-post called ‘Uluq’ How many of the above statements
and the foot-post called ‘Dawa’? is/are correct?
(a) Al-Biruni
(@ 1
(b) Duarte Barbosa
(b) 2
(c) Ibn Battuta
e
(d) Seydi Ali Reis (d) None
125. At which among the following Harappan 127. The formation of ‘tors’ on small rocky
sites are fire altars found? hills is associated with which among
the following?

(a) Kalibangan
s (a) Granite

0} e (b) Limestone
(¢) Mohenjo-daro (c) Alluvial
(d) Rakhi Garhi (d) Dolomite
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128. Wiesramdl % ar A f=fafgs w969 w fF=w

Hfr

1. wfteskam 3= 3@ @ §

2. T % %3 # 91 srawd Wi B =Ry

3. :ﬁmﬁa@,ﬂﬁaﬁmﬁﬁﬂmﬁ?ﬁ
r

I A | foFar wua wdt R/87
(@ 1

(b) 2

(c 3

(d) I3 e

129. F=fafea # & F9-w/F9-2 9= v 2/37

1. -9 fit yefa iR A )

2. WM wed (T9E) fi W wyE@
15 km B, @i e qd fi wen
T T 30 km |

R fon Y F2 1 wEE W |d W gRw)
(@ Fad 1

(b) Fad 2

(c) 1 3 23E

(d) q.a’nahﬂ'az

130. Sl 2020 #, fr=fafga & @ o @m

UG-8 & Yo & e A faem fen
™7

(@ T 3R 4 @ ggad

(b) T T TEU N AR wAA

(c) Y50 T sienm i Frpraw faee
(d) TR0 3R AR gael T T 3R G
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131. q I o€ H BHE g0 FAW: 50 cm 30K
25 cm 21 3R T QA <4 F w9k ¥ w@
ST, @ W EESE fl T aHa R s
Bfi?

(a) +2 THEIX
(b) +6 BER
(c) -6 TER
(d) +3SHErR

132. Fr=fafaa § & #R-71 vg, e ofgy & Sgq
wifeh =1 Frefua it ¢ wea 27

(@) VI

(b) I?/R
(c) IR
(d) V?/R

133. 13 HA FH AGGH T 3/2 21 AR qg
# yehra A T o R, A HEA wE H yww A
Tifq e fehat grft?

(@ (3/2c
(b) (4/9c
fc) 2/3)c
(d (9/4)c

134, TF Hicdee Y #1 A™ad 1 ot 3R 3@
TAH 800 g ®1 ¥ F WEA 1gem
U 9l S| § W@ W R 3R 3Ed 9.
1'5 gem™ 99 91 39 79 B ¥ W1 W@l
R da Fr=afafaa & @ F9-w Fu9= 9d@ 27

(a) ¥¥e i@ 3R 39 BEH § qum|

(b) ¥Fe 5 AR %@ BHI H g Swm |
(c) ¥ id § g@ mom iR 3@ B # &)
(d) %z @ | q0m 3R F@ B # 7@ o)
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128. Consider the following statements about

anticyclones :

1. Anticyclones are high pressure
systems.

2. Air in the centre of the system must
be subsiding.

3. Anticyclones are characterized by
converging winds.

How many of the above statements
is/are correct?

(a) 1
(b) 2
(c) 3
(d) None

129. Which of the following statements is/are

correct?

1. The Earth’s crust is brittle in
nature.

2. The mean thickness of the oceanic
crust is 15 km, whereas that of the
continental crust is around 30 km.

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

130. In January 2020, the administration of

which of the following Union Territories
has been merged together?

(a) Daman and Diu and Puducherry

(b) Puducherry and Dadra and Nagar
Haveli

(¢) Puducherry and Andaman and
Nicobar Islands

(d) Dadra and Nagar Haveli and
Daman and Diu

DFRG-U-TAG/49A
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Two convex lenses have focal lengths of
50 cm and 25 cm, respectively. If these
two lenses are placed in contact, then
the net power of this combination will
be equal to

(a) +2 dioptre
(b) +6 dioptre
(c) -6 dioptre
(d) +3 dioptre

132. Which one of the following terms cannot

represent electrical power in a circuit?
(@ VI

(b) I?/R

() I*?R

(d) V2/R

133. The refractive index of crown glass is

close to 3/2. If the speed of light in air
is ¢, then the speed of light in the crown
glass will be close to

(@) (3/2)c
(b) @/9c
(c) 2/3c
(@ (9/4)c

134. The volume of a sealed packet is 1 litre

and its mass is 800 g. The packet is first
put inside water with density 1 g cm =
and then in another liquid B with
density 1'5 g cm 2. Then which one of
the following statements holds true?

(a) The packet will float in both water
and liquid B.

(b) The packet will sink in both water
and liquid B.

(¢) The packet will sink in water but
will float in liquid B.

(d) The packet will float in water and
sink in liquid B.

[ P.T.O.
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135. m THUA F Mas R | T fi SH-gw 138. G-I # G-Il & Wy Gafera ffg 3ik

et v <ies w1 smadea 7R Ak New gfeEl & = oy T g2 w1 owEm W wd I
F FEEE H gHA W R S ek 9 f g
TR B o W R Wy, @ dAes @
HadHT F1 B -1 =11
(weTHT) (=)
(@ T :
A. 3Hd-HEHR 1. wfge weqm
(b) T/2 B. 3fsgr@-gemr 2. 9 % FER
C. Y/-HgMTT 3. TR YIEA ¥ HEg
(c) 2T D. TFrfaggcrs-aegm 4. dHia &5 % 99
d 2T %e:
)il i Bt s D
3. 7% .
136. F=fuflaa ¥ @ fra 93 (fearm) § yem o=,
A 31 3 wiRa B &7 o .

(@) T IS SAIS

(b) R TR W | 3
(c) HRIA (d A B G .AD

PR R )
(d) FhHR

137. 332 243G ¥ e, Aeffaa & @ -t 1% FRTgS 1 TR T A A R

aral i wifen w27

(a) YR
(@) s fam

(b) ETE
(b) ¥t GuRI &1 FEEE
(c) ¥-Twad! 3R g W - (c) @44
(@ ¥-usr =1 g (d) =&
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135. A simple pendulum having bob of mass m
and length of string | has time period
of T. If the mass of the bob is doubled
and the length of the string is halved,
then the time period of this pendulum
will be

(@ T

(b) T/2

(c) 2T

(d) 2T

136. In which one of the following devices,
the light energy is converted into the
electrical energy?

(a) Light-emitting diode
(b) Laser diode
(c) Solar cell

(d) Transistor

137. Which one of the following is not a power
of Panchayats under Article 243G?

(a) Land improvement
(b) Implementation of land reforms

(¢ Land consolidation and soil
conservation

(d) Regulation of land revenue

DFRG-U-TAG/49A

138. Match List-I with List-II and select the
correct answer using the code given

below the Lists :

List-1
(Mahamatta)
A. Anta-mahamatta 5y

B. Ithijhakha-mahamatta 2.

C. Dhamma-mahamatta 3.

D. Nagalaviyohalaka- 9.
mahamatta

Code :

(@ A B C D

| 2 1 4

(b) A C D

3 1 2 4

(c) A c D

4 1 2 3

(d A B C D

-} 2 1 3

List-I
(Function)
Women's

welfare

Spread of
Dhamma

Associated
with city
administration

In-charge of
frontier areas

139. Who among the following is the author

of the Hastyayurveda ?

(a) Palakapya
(b) Vagbhata
(c) Sushruta

(d) Charaka
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im.%aﬂhﬁﬁﬁ, 1803 & adm fafew gm

frafafiaa § @ frm &3 =1 iftmfga & mn
q1?

(a) H<h
(b) HitfeEm

()
(d) FTeiide

141. P=fafes s w =R ifvw

1. WER®E TS9 § P TemE # fteman
o @ (Rreindier # ovad & 37g@m) |

2. WERE # UEE TUSHEl @ Afuwad frem
T F TH FRU N A AEA IR
anfdfen faepma =1 wR R

IS § ¥ FH-A/FA-F B TE /87
(@ *F4 1

(b) FaE 2

(c) 13 23H

(d @ 13mIA2

142. 7 3R TdA fER f @, e @R

AT W Ffad Fraaml JeEr Aansd &
1 FEd 27

(c) Fras Toramsremy
(d) e B
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143. ‘I W F AW A (I2F)’ A5 F R H

Frafefaa wuat w fa=r fifse .

1. I8 &g fomma s ) fTwlfm #0 %
g Favadamr Qe 21

2. g & url W fFerd afe snfds
Y | Faed IR AVER ITH F GIH
T B

I # A F-91/FA-B FoE 90 B/E7

(@) Faa 1

(b) FaA 2

(c) 1323

(@ Fd1AMAE2

144, Fr=fafas s w fmr i

1. Y& 94 S Sewaa #1 i
R

2. wEeh 78w 3R v AR % em R
Eccildl

3. amuefl 7 dfrearg F e a3
2l

IR # A fFem o wd /27
(@ 1
(b) 2
(¢ 3

(d) g T
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140. Which one of the following areas was

acquired by the British under the
Treaty of Deogaon, 1803?

(a) Cuttack
(b) Murshidabad
(c) Surat

(d) Calicut

141. Consider the following statements :

1. Maharashtra State has the
maximum share of national
highways (length in kilometres).

2. The nature of terrain and the level
of economic development is one
of the reasons for the maximum
share of national highways in
Maharashtra.

Which of the statements given above
is/are correct?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

142. The activities or services focussed on
creation, rearrangement and inter-

pretation of new and existing ideas are
referred to as

(a) quaternary activities
(b) quinary activities
(c) tertiary activities

(d) secondary activities

DFRG-U-TAG/49A

143. Consider the following statements about

‘Ude Desh ka Aam Nagrik (UDAN)’
scheme :

1. It is an innovative scheme to
develop the regional aviation
market.

2. It creates affordability yet
economically viable and profitable
flight on regional routes.

Which of the statements given above
is/are correct?

(a) 1 only
{b) 2 only
{c) Both 1 and 2

(d) Neither 1 nor 2

144. Consider the following statements :

1. The Sharavati river creates Jog
Falls.

2. The Brahmani river is formed by
the confluence of the Kosi and
Sankh rivers.

3. The Tamraparni is a river of
Tirunelveli district of Tamil Nadu.

How many of the above statements
is/are correct?

(@ 1
(b) 2
fe) 3

(d) None

[P.T.O.
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145. GRR’ & 43 (fearm) R, R v

e F e eget A g e ¥ fog
foran it B1 38 WA % oo v Pefafaa
# ¥ frg yer N a1 = = e

(a) %A qT
(b) wHE Y yeg dimn i wEfy qi
(c) TOHA T
(d) 3w B

146. @ a0l H 9@ ¥ ) A Frafafes 3 @

FH-91 Y7 T TE R?

(@) &R T = oa N gon § Fa §
s R)

(b) a1 # w@fy 7 A I e F I F
Y wedt B

(c) 9g & @iy 7 f 9a awE | 3 F
Ty Fed B

(d) @R T f e 9y B gan § a9 q
it R

147. AFE A ¥ 30 Q@ F F Fwd &, | A=A

S a0l ¥ gag 2@ § B4 9 gRadal #
3ga wal & ufafda w27

(@) a0 dfE
(b) Fviiad (i)
(c) wUiqee (33WGH)
(d) TR Few
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148, fr=fafaa & & fFm aig =1 waiius w@m am=

9 § W g seeit F g F R & fog
T < 27

(@) Tegfufam
(b) T
(c) ©E

(d) TEA

149. 10 g F9HM dTell T TMeft #l 1 kg FA9H H

frede ¥ &fe ®9 @ 300ms™! F A W
T s 8| e @ afadg-an w=n 27

(@ 03 ms!
(b) 3 ms}
() -3ms!

(d -03 m s’}

150. WEHIGH iafda Han §

@) e R i
(b) &t T B Aga GHai A
(c) GEm-ai @ awn A

(d) eafF qoh F geE-aen |
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145. SONAR is a device that is used to
measure the distance of underwater
objects by a ship. Which of the following
types of waves does it use for this
purpose?

(a) Infrasonic waves

(b) Sound waves in audible range for
human beings

(c) Ultrasonic waves

(d) All of the above

146. Which one of the following statements
about the speed of sound waves is not
correct?

fa) The speed of sound waves in steel
is higher than that in water.

(b) The speed of sound waves in
air decreases with increase in
temperature.

(c) The speed of sound waves in
air increases with increase in
temperature.

(d) The speed of sound waves in water
is higher than that in air.

147. The part of the human ear that converts
the pressure variations associated
with audible sound waves to electrical
signals is

(a) auditory nerve
(b) cochlea
(¢) eardrum

(d) eustachian tube

DFRG-U-TAG/49A

148. Which one of the following metals is
most commonly used for making
filament of incandescent electric bulbs?

(a) Aluminium
(b) Silver
(c) Copper
(d) Tungsten
149. A bullet of mass 10 g is horizontally fired
with velocity 300 m s~! from a pistol of

mass 1 kg. What is the recoil velocity
of the pistol?

(@ 03 ms!
(b) 3ms’!
() -3 ms!

(d -03ms!

150. A microphone converts
(a) electrical signals to sound waves
(b) sound waves to electrical signals
(c) microwaves to sound waves

(d) sound waves to microwaves

[ P.T.O.
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